1. Ilyctba = 2,9;b = 8,7 - 103, Haiizure MPOU3BE/ICHUE ab U 3alUIINTE €ro B CTAHJIAPTHOM BHJIC.

1)2523-101  2)0,2523-10°  3)2,523-10> 4 25,23-10° 5 2,523-10*

2. llyctba = 3,6;b = 7,8 - 10!, Haiizure MPOU3BEJICHUE ab U 3alUIINTE €r0 B CTAHJIAPTHOM BHJIC.

1)28,08-10"  2)2.,808-10> 32,808 4, 2808-10"! 5 0,2808-10°

3. llyctba = 6,7;b = 4,3 - 103, Haiizure MPOU3BE/ICHUE ab U 3alUIINTE €ro B CTAHJIAPTHOM BHJIC.

1)2881-10"  2)28,81-10° 3)0,2881-10° 4)2,881-10* 5 2,881-10°

4. Illyctba = 3,4;b = 7,1 - 10%. Haiizure MPOU3BEJICHUE ab U 3alUIINTE €r0 B CTAHJIAPTHOM BHJIC.

1)2,414-10°  2)241,4-10"  3)0,2414-10* 42,414  5)2414
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